Multiply by 10" (D)

7.1963 x 10 =

2x 10 =

5.5 % 10! =

7.87 x 10* =

7.2x10' =

7.5144 x 10" =

0.1027 x 10* =

6.623 X 10 =

0.9 x 10 =

5.2063 x 10 =

Find each product.

6.85 x 10* =

3.5 x 10 =

1.7035 x 10* =

6.06 x 10* =

7.9358 x 10 =

6.534 x 10 =

3.42 x 10' =

6.8 x 10t =

7.94 x 10* =

0.1 x10=
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Multiply by 10* (D) Answers

7.1963 x 10' = 71.963

2x10'=20

5.5 % 10" =55

7.87 x 10* =78.7

7.2 %10t =72

7.5144 x 10' = 75.144

0.1027 x 10* = 1.027

6.623 X 10" = 66.23

0.9 x10'=9

5.2063 x 10' = 52.063

Find each product.

6.85 X 10* = 68.5

3.5x10'=35

1.7035 x 10* = 17.035

6.06 X 10* = 60.6

7.9358 x 10* = 79.358

6.534 x 10 = 65.34

3.42 x 10' = 34.2

6.8 x 10' =68

7.94 x 10' =79.4

0.1x10'=1
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